MoVI M10 For Sale

$7,200
MoVI MI0

Quantity Description

| MoVI M10 Handheld Stabilizer

| MoVITop Handle

| MoVI Stand

4 Freefly 14.8V 2.6Ah MoV| Batteries

2 LiPo Charger with AC Cord and Charge Lead Adapter

2 MoV Battery to D-Tap Connector

| Lithium Polymer Charging Bag

| M2.5mm Hex Driver

| M3mm Hex Driver

| Allen Key

| Hex Driver Set (1.5mm, 2mm, 2.5mm, 3mm, 4mm, 5mm)
| Movl Ninja Star Adapter Plate

| Adjustable Camera Plate

| MoVI M10 Repair / Emergency Spare Parts Kit (see list below)
| MoVI Rod Mount Adapter

| MoVI M10 Cinema Oxide Pelican Case

Spektrum DX Remote Control
Quantity Description

| Spektrum DX8 Remote Control with Battery Pack

| |2V DC Power Supply / Battery Charger for Remote Control
| DX8 Neck Strap

| Secraft TXTray for DX Remote, V|

| DX8 User Manual and Programming Guide

MoVI Repair / Emergency Spare Parts Kit
Quantity Description

18 8" Zip Ties

6" Zip Ties

4" Zip Ties (thin)

2.75" Zip Ties (thin)

Puck Wire

Assembly 4 Pin ZH Flipped 100mm
Bolt 1/4-20 x /2" FHCS
Bolt 1/4-20 x 3/8" FHCS
Bolt 1/4-20 x 3/8" BHCS
[/4 Aluminum Spacers
Accessory Mount

Large O-Rings

Small O-Rings

Plastic Toggle Lever
Aluminum Lever Hinge
Double Stick Mounting Tape
M3x45 Socket Head Screws
M3x40 Socket Head Screws
M3x37 Socket Head Screws
M3x 10 Socket Head Screws
M3x8 Socket Head Screws
M3x4 Socket Head Screws
M4x |0 Button Head Screws
M4 Washers

Press Nuts

Mini Allen Key

— O WWN S PP SN MO —— =SS G






=

ciner

swive!

-

ING Bag
LITHIUM POLYMER CHARG

teot b
3 e Sofow 38 i ecutions ar
L\ WARNING: s st

Y e
T RaeS € rev b e e et
Ergropes use

Dapose
A CAUOR A
oo ity

SPERTRUM E!
ln'.lvumvcu Malluﬂ
nmmuunuumm.mq
Mm’m"l a uhlxxzhnn
Mamu:ﬂ di 'Struzign)
Ml!luM de InLlruLL\OI\"Y

Elrrernie

TR
[OXI0E] gpew

(S

o
‘;,@5\ 0=








